14, C: SA=2m2+2nrh=~
2(3.14)(32) 1 2(3.12)(3)(5) =
56.52+94.2 = 150.72 cm?

15. E: "roof": SA =2(7)(5) = 70 m?
triangles:

SA = 2;(6( 4) =24 m?
sides :

SA =2(2)(7)+2(2)(6) = 52 m?
bottom : SA = (6)(7) = 42 m?
total :

SA=70+24+52+42 =188 m2

Test 17
1. C: awhole number
2. B: 6
3. B: RS
4, E: \f?+\/—:\/§—+\/§:

cannot be simplified

5. B: (VX )(&/Y)=30/XY
6. D: 10J3
7. A: (3/5)(3/5) =925 = 9(s) =
8. B: 45 =95 =35
9. C: V24 =Vave =206

10. E: =Ja2
cannot be simplified

1. A 4‘/_

12. C: 3\/—1 =

2 1
34 =3(2)=6

13. E: cannot be simplified

14. B: 2/3+3/3+6J3 =
(2+3+6)y3 =1W3

15. D: (5V3)(4/2) =205

GEOMETRY

Test 18
1. D:
2. C:
3. D:
4, C:
5. B:
6. E
7. C:
8. B
9. C

10. A

TEST 16 - TEST 18

a2+b2=c2

the triangle is a right triangle
32422 =W
9+4=H?
13=H2
V13 =H=3.61

Of the answers given,
4 is closest.

A% 4B = 12

\JA2+B2 =\/§
VA24+B2 —H

32472 = 1
9+49 = H
58 = H2
58 =H

42+ 6% = H?
16+36 = H?
52 = H2

Js2 =H=VaV13 =2/13

62+82 =102
36+64=100
100 =100: true
Since the Pythagorean
theorem applies to this
triangle, it is a right triangle.

52492 2122
25+81=144
106 =144 : not true
Since the Pythagorean
theorem does not apply to
this triangle, it is not a
right triangle.

©90°
. hypotenuse
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TEST 18 - TEST 19

11.

D: 52+L2=(\[a)2

25+12 =61
12 =36
L=6
12. B: 1224122132
144+12 =169
12 =25
L=5
13. A: ST=12
122 412 = 202
144412 = 400
12 - 256
L=16
14. B: A=%bh=%(24)(16)
=192units2
15. E: A=8(192)=1,536 units?
Test 19
1. B: denominator
2. E: 1
3. A: common denominator
4 A5 _ 53 _s5/3 _s5/3
NERREYEE D) 3
&2 _8/2 4l
5. D: N R —4f2
N A
Js o J8V2 16
%—gzq]izg
7 g S5 _5 s
N
8. A N7 _3/7d10 _
Jio Y1010
370 _ 370
J100 10
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11.

12

13.

14,

15.

p—

o415 _4fisve _ 4/o0 _
" 6/6  6V6v6 636
490 _ afoo _ Joo _
6(6) 36 9
J9v1o _ 310 _ Vo,
9 9 3
511 _ 15115 _15/55 _
J5 V545 J2s
15/55 _3Js5 /et
5 1
C 43 23 _6/3 &3V2
B I PR Py N W r
C 7.3 . ns 2
Vs V2 Usds a2
ns 32 s 32 _
s Ja s 2
ns(2)  3/2(5) _
5(2) 2(5)
14\/?+5\/— 4\/—+15\/>
10 10
8f6 sf_ﬂ_w_—ﬂz
V3 2 33 Va2
818 s/6 _8/18 _s/6 _
Jo Va3 2
8\/—\/_5J_ 3J_5\/—
8\/— SJ_ 8/2(2) 5\/—6—:
2 1(2) 2
16\f_ 5\/7 l6«/~5\/_
6JW zJ_ GJ—\/_ _alsd2
3 2 J2v2
W_zm:ﬁ_zmz
Jo o J4 3 2
23 o n3 e
2J~ L3 2 7_
Ve ' Ty
2.7-147=38
2
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